TERMINOLOGY

ACWP

Actual Cost of Work Performed

BAC

Budgeted at Completion

BCWP

Budgeted Cost of Work Performed (Earned Value)

BCWS

Budgeted Cost of Work Scheduled

CBB

Contract Budget Base (Total Authorized Work)

CPI 

Cost Performance Index

CPIc

Cost Performance Index – Cumulative

CPIm

Cost Performance Index – Monthly 

CPIn

Cost Performance Index – “n” Months Moving Average

CTC

Negotiated Target Cost (Value of Negotiated Work)

CV

Cost Variance

EAC

Estimate at Completion (Government Estimate)

LRE

Latest Revised Estimate

MR

Management Reserve


PMB

Performance Measurement Baseline

SPI

Schedule Performance Index

SPIc

Schedule Performance Index – Cumulative

SPIm

Schedule Performance Index – Monthly

SPIn

Schedule Performance Index – “n” Months Moving Average

SV

Schedule Variance

PERFORMANCE INDICES

Cost Performance Index (Efficiency)  
CPI  = BCWP / ACWP

Schedule Performance Index (Efficiency)  SPI = BCWP / BCWS

Percent Complete = BCWPc  / BAC

Percent Spent = ACWPc  / BAC

VARIANCES

Cost Variance

CV = BCWP - ACWP

Schedule Variance
SV = BCWP - BCWS

Cost Variance %
CV% =  (CV / BCWP)  * 100

Schedule Variance %
SV% = (SV / BCWS)  * 100

Variance Completion
VAC = BAC - LRE

ESTIMATE AT COMPLETION (EAC)

EAC = BAC / CPIc
EAC = BAC / CPI3

EAC = BAC / CPI6
EAC = ACWPc + (BAC - BCWPc) / [(CPIc)( SPIc)]

EAC = ACWPc + (BAC - BCWPc) / CPIc
EAC = ACWPc + (BAC - BCWPc) / [(CPIc)(.8) + (SPIc)(.2)]

EAC = ACWPc + (BAC - BCWPc) / CPIm
EAC = ACWPc + (BAC - BCWPc) / CPI3
EAC = ACWPc + (BAC - BCWPc) / CPI6
TO COMPLETE PERFORMANCE INDICES

TCPI(BAC)    =    Work Remaining        =    BAC - BCWPc
                            Budget Remaining            BAC - ACWPc
TCPI(LRE)    =    Work Remaining        =     BAC - BCWPc
                            Budget Required               LRE - ACWPc
